BK Albrekts

Bronzstegen Omg 10

IMP over faltet, 28 bord, 56 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 6 2.54 Ludvig Strannabjer Melin - Lars-Anders Callenberg 64837 1601
2 314 2.13 Kerstin Karlsson - Géran Sundgvist 45909 34167
3 213 1.80 Per Sintorn - Sten Jonsson 36301 24089
4 102 1.71 Maya Lo Bjork Heed - Andrea Nilsson 58763 58762
5 104 1.46 Jesper Pettersson - Hans Baltsén 65736 60736
6 1 1.44 Jorgen Neldemo - Agneta Svenberg 18660 26779
7 2 1.42 Jan Malmstrom - Ulf Persson 2785 2787
8 212 1.38 Birgitta Lindberg - Sonia Banghall 34160 42729
9 311 1.26 Bodil Rehn - Maria Séderlund 60714 60715
10 203 1.23 Britt-Marie Warborn - Bobbo Jovic 2783 48267
11 209 1.23 Kjell Svensson - Hans Andréasson 4250 8215
12 11 1.03 Frank Johansson - Siw Svensson 56449 56262
13 208 0.95 Egon Osterbrand - Ulla Osterbrand 89890 89889
14 112 0.86 Anders Richnau - Maj Holmberg 53991 45911
15 113 0.84 Bertil Stomgarde - Hans Fritzén 65695 42726
16 308 0.82 Karin Lindkvist - Inger Hedstrém 48269 84020
17 5 0.81 Curt Andersson - Nils-Arne Nilsson 43281 53888
18 214 0.73 Ingrid Wackerberg - Ingegérd Nilsson 92023 53952
19 210 0.58 Ulla Hindsén - Barbro Wulker 19051 20947
20 310 0.53 Kerstin Kagstrom - Carola Unosson 45861 34164
21 4 0.37 Nicklas Barman - Tove Roulund 60737 58234
22 306 0.37 Birgit Callenberg - Ingrid Johansson 12179 61271
23 109 0.36 Gerd Blennskog - Sigbritt Nilsson 58673 58752
24 7 0.31 Gunilla Jern - Christina Frey 45624 46118
25 301 0.23 Jan Olsson - Birgitta | Olsson 56443 56442
26 103 0.07 Birgit Ekman - Anders Ekman 42256 42257
27 105 0.07 Kajsa Ekléw - Marzanna Baczynska 65697 65306
28 307 0.06 Marianne Ekman - Kerstin Gyllén 58676 58677
29 107 -0.06 Brita Alkhagen - Karin Ostbye 39742 92118
30 305 -0.07 Ann Ohnedal - Géran Nilsson 53984 61225
31 303 -0.07 Agneta Klint - Hakan Klint 53947 58667
32 101 -0.23 Ulla-Britt Eriksson - Ulla-Karin Ericsson 53988 5316
33 207 -0.31 Inga-Britt Andréasson - Margareta Svensson 14841 86685
34 309 -0.36 Anne-Maj Emblad - Agneta Lundh 48561 48375
35 106 -0.37 Inge Karlsson - Kerstin Lundberg 58661 63029
36 204 -0.37 Roger Hedskdld - Nils Svensson 92027 26780
37 110 -0.53 Birgitta Mansson - Ewy Bohl 20059 63022
38 10 -0.58 Donna Diding - Peter Diding 15655 18298
39 14 -0.73 Lars-Olof Carlsson - Manfred Bachmann 37071 26708
40 205 -0.81 Siv Jacobsson - Erling Ohlsson 7353 87034
41 108 -0.82 Arne Johansson - Gunvor Johansson 63024 34152
42 313 -0.84 Margareta Nilsson - Bengt Nilsson 56446 56447
43 312 -0.86 Eva Svensson - Ann-Britt Fridén 37078 56833
44 8 -0.95 Pia Larsson - Anas Hejazi 50588 61046
45 211 -1.03 Lena Martensson - Lena Ljungberg 84025 30682
46 9 -1.23 Stig Emblad - Gunnar Nilsson 50601 50600
47 3 -1.23 Lars-Goran Larsson - Kjell Olsson 2743 45456
48 111 -1.26 Sussi Rylander - Ulla Aberg 60747 65696
49 12 -1.38 Laila Laveno - Lena Jénsson 7106 53901
50 202 -1.42 Sigge Ljungfalk - Gunvor Bengtsson 39824 19715
51 201 -1.44 Tage Ericsson - Per Fahraeus 5311 3010
52 304 -1.46 Jenny Myrendal - UIf Andreasson 62212 47041
53 302 -1.71 Jan Bjorkman - Hugo Kaspersson 62990 59629
54 13 -1.80 Maj-Britt Forsaeus - Kristina Andersson 45807 48376
55 114 -2.13 Els-Marie Kjellin - Leela Pettersson 39104 79439
56 206 -2.54 Annika Levin - Kenneth Svensson 79423 14859
13 4 DKn652 Basta kontrakt 14 « EKD965 Basta kontrakt 15 41084 Basta kontrakt
Nord vED3 34 N =140 Ost v DKn2 ANT S =430 Syd v Kn10983 24 V =-110
Alla ¢- Ingen +6 NS + Kn93
#108432 ¢ v & NT #E94 & ¢ v & NT £98 & ¢ v & NT
4987 «E103 8897 4832 4 Kn10 N6 6 8 1010 4E632 4D975 N56 846
v 102 vKn876 8897 vK v 98765 S 6 6 8 1010 vE6 v742 S 66846
+ D75 ¢ KKn32 54 4 4 ¢ EDKn ¢ K9532 06 7 433 + K74 ¢ E105 087587
#ED765 #Kn9 54 4 4 #KDKn853 #7 V67433 #KKn54 #632 V76587
4 K4 474 & KKn
v K954 vE1043 v KD5
+ E109864 + 10874 + D862
*K #1062 #ED107
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5205 3NS= vT 600 281.0 -281.0| 11 211 44 N= &7 420 196.0 -196.0| 4 204 INDS+1 3 380 202.0 -202.0
6 206 BNS= vT 600 281.0 -281.0| 5 205 3vO-5 &7 250 87.0 -87.0(107 307 INDS+1 #4 380 202.0 -202.0
104 304 3NN= v7 600 281.0 -281.0| 3 203 24 N+2 &7 170 37.0 -37.0| 14 214 2v S+2 43 170 79.0 -79.0
102 302 INS+2 &9 150 63.0 -63.0| 7 207 34 N+1 &7 170 370 -37.0| 3 203 INS+2 2 150 60.0 -60.0
1201 34 N= #J 140 63.0 -63.0| 10 210 34 N+1 #7 170 370 -37.0| 6 206 2v S+1 v6 140 57.0 -57.0
7 207 2y S+1 49 140 63.0 -63.0| 12 212 34 N+1 &7 170 37.0 -37.0| 10 210 2v S+1 &5 140 57.0 -57.0
108 308 3v S= &5 140 63.0 -63.0| 13 213 24 N+2 &7 170 37.0 -37.0| 11 211 2v S+1 &5 140 57.0 -57.0
111 311 2NN= ¢2 120 51.0 -51.0(101 301 34 N+1 #7 170 37.0 -37.0(103 303 2v S+1 &4 140 57.0 -57.0
4 204 2v S= 49 110 38.0 -38.0(102 302 24 N+2 &7 170 37.0 -37.0(104 304 2y S+1 #4 140 57.0 -57.0
11 211 24 N= #J 110 38.0 -38.0(111 311 24 N+2 &7 170 37.0 -37.0(106 306 2v S+1 %4 140 57.0 -57.0
105 305 2¢ N+1 ¢7 110 38.0 -38.0(112 312 34 N+1 «7 170 37.0 -37.0(109 309 2v S+1 ¢4 140 57.0 -57.0
112 312 24 N= &9 110 380 -380| 8 208 44 V- 4A 150 10.0 -10.0|110 310 2v S+1 &5 140 57.0 -57.0
13 213 2¢ S= T 90 23.0 -23.0| 2 202 34 N= &7 140 90 -90| 5205 2vS= ¢4 110 30.0 -30.0

BK Albrekts, Bronzstegen Omg 10, sida 1 av 3




107 307 2¢ S= T 90 23.0 -23.0| 4 204 34 N= 7 140 90 -9.0| 7 207 2vS= 43 110 30.0 -30.0
113 313 2¢ S= «5 90 23.0 -23.0| 6 206 34 N= 7 140 9.0 -9.0(112 312 2vy S= &5 110 30.0 -30.0
2 202 34 N-1 v6 -100 -95.0 950| 14 214 24 N+1 &7 140 90 -90| 9209 3+#V-2 vJ 100 27.0 -27.0
3 203 44 N-1 97 -100 -950 95.0({103 303 34 N= &7 140 9.0 -9.0(108 308 44 V-2 vJ 100 27.0 -27.0
10 210 2¢ S-1 T -100 -95.0 950|104 304 24 N+1 7 140 9.0 -9.0(111 311 34 V-2 vJ 100 27.0 -27.0
12 212 24 N-1 3 -100 -95.0 95.0(106 306 24 N+1 &7 140 9.0 -9.0|113 313 INS= &5 90 15.0 -15.0
14 214 2¢ S-1 &A -100 -95.0 950|109 309 24 N+1 &7 140 9.0 -9.0(105 305 34 O-1 ¢6 50 -15.0 15.0
101 301 34 N-1 #9 -100 -95.0 95.0(110 310 24 N+1 #7 140 90 -90| 1201 INV= ] -90 -101.0 101.0
103 303 3NS-1 &5 -100 -95.0 95.0|113 313 34 N= ¢5 140 90 -90| 8208 2vS-1 4A -100 -105.0 105.0
106 306 3NN-1 ¢7 -100 -95.0 95.0(107 307 4+V-2 «A 100 -20.0 20.0|101 301 2v S-1 #5 -100 -105.0 105.0
109 309 3v S-1 #A -100 -950 95.0| 1 201 44 N-1 &7 -50 -126.0 126.0| 12 212 24 O= vK -110 -110.0 110.0
110 310 2NN-1 v7 -100 -95.0 95.0|108 308 44 N-1 &7 -50 -126.0 126.0| 13 213 34 O= vK -140 -133.0 133.0
114 314 2¢ S-1 &5 -100 -95.0 95.0|114 314 34 N-1 &7 -50 -126.0 126.0| 2 202 INV+3 3 -180 -159.0 159.0
8 208 3NS-2 5 -200 -161.0 161.0( 9 209 34 N-2 &7 -100 -159.0 159.0|114 314 INS-2 &5 -200 -166.0 166.0
9 209 3NN-2 3 -200 -161.0 161.0(105 305 44 N-2 #7 -100 -159.0 159.0|102 302 24D O= vK -470 -291.0 291.0
16 4986 Basta kontrakt 17 475 Basta kontrakt 18 ~ E82 Basta kontrakt
Vast v 8432 4v V =-620 Nord vD9 5v O =-450 Ost v Kn7 5# SD-1-200
ov ¢ D92 Ingen ¢ KKn97 NS ¢ K97
#E107 & ¢ v & NT #E10653 & ¢ v & NT #97432 & ¢ v & NT
4E43 41072 N5 3 35 3 |«EKNn9 4 K108 N8 426 2 D975 «KKn1063 N 109 3 3 6
vKD95 vEKn S5 3 35 3 | vyEKKn10753 v82 S84262 vKD9654 vE108 S 109 3 3 6
¢ K74 ¢ EKn653 O 6 10106 9 | D10 ¢ E8542 O5 8 117 8 ¢ 64 ¢ Knl102 O3 3 8 107
#Kn86 #953 V 6 10106 9 | D #Kn82 V58 117 8 &5 +E10 vV 3 3 8 107
4 KDKn5 4 D6432 a4
v 1076 v 64 v32
+108 ¢ 63 ¢ ED853
#KD42 #K974 #KDKn86
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
102 302 24 V-3 46 300 226.0 -226.0| 7 207 4v V-1 #A 50 249.0 -249.0| 5 205 44S= vK 130 220.0 -220.0
106 306 3NV-2 &A 200 173.0 -173.0|112 312 3v V= 7 -140 1430 -143.0| 2 202 5¢v V-2 +7 100 209.0 -209.0
6 206 24 S= ¢4 110 112.0 -112.0|113 313 2v V+2 #3 -170 1250 -125.0( 8 208 54 O-1 &K 50 182.0 -182.0
108 308 14 S+1 vK 110 112.0 -112.0| 2 202 3v V+2 &7 -200 1050 -105.0 (101 301 54 O-1 &K 50 182.0 -182.0
11 211 2¢ O-1 4K 100 111.0 -1110( 6 206 3v V+2 &7 -200 105.0 -105.0 (106 306 44 O-1 &K 50 182.0 -182.0
14 214 2¢ O-1 &K 100 111.0 -111.0| 14 214 2v V+3 7 -200 1050 -105.0( 6 206 5#N-1 &3 -100 96.0 -96.0
113 313 2¢ O-1 v6 100 111.0 -111.0|102 302 3v V+2 &7 -200 1050 -105.0( 7 207 5#S-1 vK -100 96.0 -96.0
107 307 1y V= ¢2 -80 -17.0 17.0(114 314 3v O+2 &7 -200 105.0 -105.0 (114 314 34 O= ¢A -140 68.0 -68.0
2202 INO= &K 90 -19.0 19.0|109 309 2v V+4 9 -230 88.0 -88.0| 11 211 34 O+1 «K -170 43.0 -43.0
3203 INV= 49 90 -19.0 19.0(110 310 2y V+4 &7 -230 88.0 -88.0|103 303 34 O+1 #K -170 43.0 -43.0
9209 INO= &K -90 -190 19.0( 1201 4vV= &A -420 -440 440|104 304 34 O+1 K -170 43.0 -43.0
10 210 INO= &K 90 -19.0 190| 5205 4v V= &A -420 -44.0 44.0|109 309 34 O+1 «K -170 43.0 -43.0
12 212 INV= &9 90  -190 19.0| 11 211 4v V= 9 -420 -440 44.0(110 310 34 O+1 &K -170 43.0 -43.0
13 213 INO= &K -90 -19.0 19.0|103 303 4v V= ¢9 -420 -440 440| 1 201 54DN-1 «K -200 29.0 -29.0
101 301 INO= 4K -90 -190 19.0| 3 203 4vV+1l 47 -450 -66.0 66.0| 4 204 54DN-1 «T -200 29.0 -29.0
111 311 INO= 4K -90 -19.0 19.0| 4 204 4vy O+1 44 -450 -66.0 66.0[102 302 34 O+2 &K -200 29.0 -29.0
114 314 INO= #Q -90 -19.0 19.0| 9 209 4v V+1l 47 -450 -66.0 66.0| 3 203 44 O= &K -420 -115.0 115.0
4 204 3¢ V= 49 -110 -400 400 10 210 4vV+1l &7 -450 -66.0 66.0| 9 209 44 O= &K -420 -115.0 115.0
110 310 INO+1 &K -120 -46.0 46.0| 12 212 4vV+1l &7 -450 -66.0 66.0( 12 212 44 O= &K -420 -115.0 115.0
105 305 3¢ O+1 «A -130 -49.0 49.0(101 301 4v V+1l &7 -450 -66.0 66.0( 13 213 44 O= &K -420 -115.0 115.0
109 309 3¢ O+1 &K -130 -49.0 49.0(104 304 4v V+1l &7 -450 -66.0 66.0(107 307 44 O= &K -420 -115.0 115.0
7 207 2NV+1 46 -150 -68.0 68.0|105 305 4v V+1 &A -450 -66.0 66.0|108 308 44 O= A -420 -1150 115.0
103 303 INO+2 «4 -150 -68.0 68.0(107 307 4v V+1 &7 -450 -66.0 66.0(111 311 44 O= &K -420 -115.0 115.0
112 312 2NO+1 K -150 -68.0 68.0(111 311 4v V+l ¢9 -450 -66.0 66.0(112 312 44 O+1 &K -450 -135.0 135.0
1201 INV+3 v2 -180 -950 950| 8 208 4vV+2 &A -480 -90.0 90.0|113 313 5vV=  #2 -450 -1350 135.0
5205 INO+3 &K -180 -95.0 95.0(106 306 4y V+2 #A -480 -90.0 90.0| 10 210 44 O+2 ¥3 -480 -154.0 154.0
8 208 2NV +2 &7 -180 -950 950108 308 4v V+2 A -480 -90.0 90.0| 14 214 44 O+2 &K -480 -154.0 154.0
104 304 INV+3 ¢3 -180 -950 95.0| 13 213 4v V+3 ¢9 -510 -112.0 112.0(105 305 44 O+2 v2 -480 -154.0 154.0
19 «E754 Basta kontrakt 20 «E105 Basta kontrakt 21 « 98754 Basta kontrakt
Syd vE76 34 S =140 Vast v74 44 N =620 Nord v KDKn 3v OD-1100
ov + K3 Alla ¢ EKn953 NS ¢ Kn6
#K865 & ¢ v & NT #EKn8 & ¢ v & NT #Kn54 & ¢ v & NT
« D86 oK N44896 « 842 «D3 N9 7 5 107 «E3 « D62 N59587
vKn v K543 S448296 vEDKn6 vK952 S 975 107 v 109873 v542 S$59587
¢ E98752 ¢ DKn6 099546 ¢ 642 ¢ KD107 0466 35 ¢E ¢ 9854 083854
SE42 #D10973 V99546 #1074  #K63 V46635 #E9873 #K106 V8 3854
4 Kn10932 & KKn976 & KKn10
v D10982 v 1083 vE6
¢ 104 +8 ¢ KD10732
&Kn #D952 «D2
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
105 305 54D O-3 T 800 346.0 -346.0| 6 206 34 S+2 46 200 58.0 -58.0| 1 201 3NN+1 ¥5 630 284.0 -284.0
11 211 5¢ V-2 «A 200 110.0 -110.0| 11 211 3v O-2 +8 200 58.0 -58.0| 2202 3NN+1 ¥5 630 284.0 -284.0
103 303 4¢ V-2 «A 200 110.0 -110.0| 4 204 24 S+2 #4 170 36.0 -36.0|102 302 44 N= v2 620 280.0 -280.0
112 312 5¢ V-2 vA 200 110.0 -110.0 ({101 301 24 S+2 vA 170 36.0 -36.0| 11 211 3v V-3 ¢J 150 48.0 -48.0
2 202 34 N+1 ¢Q 170 94.0 -94.0|105 305 24 S+2 «T 170 36.0 -36.0|105 305 24 S+1 ¢A 140 43.0 -43.0
1 201 24 N+1 &T 140 70.0 -70.0|106 306 24 S+2 vQ 170 36.0 -36.0| 7 207 4¢ S= &A 130 35.0 -35.0
6 206 24 S+1 vJ 140 70.0 -70.0|110 310 24 S+2 ¢Q 170 36.0 -36.0| 14 214 2¢ S+2 3 130 35.0 -35.0
10 210 24 N+1 +Q 140 70.0 -70.0|114 314 34 S+1 v6 170 36.0 -36.0|101 301 3¢ S+1 T 130 35.0 -35.0
102 302 2v N= &K 110 48.0 -48.0| 12 212 INN+2 5 150 15.0 -15.0(110 310 2¢ S+2 T 130 35.0 -35.0
107 307 24 N= «3 110 48.0 -480( 1 201 24 N+1 +Q 140 14.0 -14.0|103 303 24 N= &6 110 16.0 -16.0
7207 3#40-1 «J 100 43.0 -43.0| 2 202 24 S+1 42 140 140 -14.0(107 307 24 N= v2 110 16.0 -16.0
12 212 4¢ V-1 «A 100 43.0 -43.0| 3 203 24 N+1 v2 140 14.0 -14.0({109 309 2¢ S+1 «3 110 16.0 -16.0
104 304 4¢ O-1 4 100 43.0 -43.0(102 302 24 S+1 &5 140 14.0 -14.0|112 312 3¢ S= vT 110 16.0 -16.0
108 308 4¢ V-1 vA 100 43.0 -43.0|104 304 24 S+1 8 140 140 -14.0(113 313 2¢ S+1 T 110 16.0 -16.0
5205 3vyS-1 ¢A -50 -56.0 56.0({109 309 24 S+1 #4 140 140 -14.0( 10 210 3v V-2 ¢J 100 13.0 -13.0
9 209 INN-1 &7 -50 -56.0 56.0| 5205 INN+1 5 120 -10.0 100 9 209 2¢ S= T 90 3.0 -3.0
13 213 34 S-1 vJ] -50 -56.0 56.0( 7 207 INN+1 v2 120 -10.0 10.0| 4 204 3¢ V-1 +J 50 -23.0 23.0
110 310 34 S-1  vJ -50 -56.0 56.0( 8 208 INN+1 v2 120 -10.0 10.0|104 304 3v V-1 +J 50 -23.0 23.0
3203 2¢ V= &A 90 -83.0 830 13 213 INN+1 «Q 120 -10.0 10.0 (106 306 2v V-1 +6 50 -23.0 230
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111 311 2¢ V= v6 -90 -83.0 83.0|112 312 INN+1 7 120 -10.0 10.0|111 311 3v V-1 46 50 -23.0 23.0
14 214 3v S-2 +¢9 -100 -940 94.0(113 313 3v V-1 ¢3 100 -26.0 26.0| 12 212 24V = ¢J -90 -114.0 114.0
4 204 3¢ V= v6 -110 -980 980( 9209 INN= v5 90 -32.0 32.0| 3 203 34 N-1 ¥2 -100 -116.0 116.0
101 301 3¢ V= #6 -110 -980 98.0| 10 210 2#N= ¢2 90 -32.0 32.0| 8 208 44 N-1 ¥5 -100 -116.0 116.0
106 306 2¢ V+1 #6 -110 -98.0 98.0| 14 214 INN= ¢5 90 -32.0 32.0|108 308 34 N-1 ¥5 -100 -116.0 116.0
109 309 3¢ V= &5 -110 -98.0 98.0(103 303 INN= ¢2 90 -320 320 13 213 2vy V= ¢J -110 -122.0 1220
114 314 2¢ V+1 #6 -110 -98.0 98.0(107 307 INN= ¢5 90 -32.0 32.0|114 314 1v V+2 &4 -140 -145.0 145.0
113 313 4¢ V= 44 -130 -116.0 116.0 (108 308 INS= ¢6 90 -32.0 32.0| 5205 34 N-2 v2 -200 -177.0 177.0
8 208 4v S-4 +A -200 -158.0 158.0 (111 311 44 S-1 #4 -100 -163.0 163.0| 6 206 44 S-2 ¢A -200 -177.0 177.0
22 4 Knl10 Basta kontrakt 23 & EK94 Basta kontrakt 24 4 Kn5 Basta kontrakt
Ost v KDKn865 5NT O =-660 Syd v 10986 44 S =620 Vast v DKn842 4v S =420
ov 49863 Alla *2 Ingen +D3
*4 & ¢ v & NT »E832 & ¢ v & NT #10742 & ¢ v & NT
4 D7643 &4 K92 N4 1611 4 Knl02 4875 N 7 9 10109 4 KD732 484 N6 59 6 8
vE73 v 104 S41611 v32 v DKn4 S 7 9 10109 vE7 v 106 S 6 5 106 8
¢ED ¢KKn1075 O 9 117 1011 ¢+ EK873 ¢ 109 054334 ¢+ Kn42 ¢ K9875 06 8 365
&EK3 #DKn8 vV 9 117 1011 *975 #KKn1064 V 5 4 3 3 4 #983 #EKn65 V68365
4 E85 « D63 « E1096
v92 v EK75 v K953
¢ 42 + DKn654 + E106
1097652 &D KD
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1201 44 V-1 #4 100 279.0 -279.0 2 202 4v N+1 &7 650 101.0 -101.0|104 304 4v N= 48 420 181.0 -181.0
3 203 64 V-1 #4 100 279.0 -279.0| 5 205 4v N+1 #J 650 101.0 -101.0|113 313 4v S= +9 420 181.0 -181.0
6 206 44 V-1 vK 100 279.0 -279.0 8 208 4v N+1 ¢K 650 101.0 -101.0| 8 208 3NS= #9 400 166.0 -166.0
9 209 44 V-1 vK 100 279.0 -279.0 | 10 210 4v N+1 &6 650 101.0 -101.0|109 309 2v S+3 &7 200 39.0 -39.0
109 309 44 V-1 &4 100 279.0 -279.0 | 13 213 4v N+1 &T 650 101.0 -101.0|112 312 2v S+3 &7 200 39.0 -39.0
112 312 44 V-1 #4 100 279.0 -279.0 (102 302 4v N+1 &T 650 101.0 -101.0| 1 201 3v S+1 «Q 170 17.0 -17.0
4 204 3NV= ¢K -600 -33.0 33.0(103 303 4v N+1 %4 650 101.0 -101.0| 5 205 2v S+2 &K 170 17.0 -17.0
8 208 3NV= ¢K -600 -33.0 33.0(113 313 4v S+1 ¢A 650 101.0 -101.0| 11 211 2v S+2 &K 170 17.0 -17.0
13 213 3NV= ¢K -600 -33.0 33.0(104 304 3NS+1 ¢3 630 78.0 -78.0| 14 214 2v S+2 4K 170 17.0 -17.0
108 308 3NV= vK -600 -33.0 33.0| 1201 4vN= &5 620 76.0 -76.0(101 301 3v S+1 &K 170 17.0 -17.0
113 313 3NV= vJ -600 -33.0 33.0| 4 204 4v N= 45 620 76.0 -76.0(102 302 2v S+2 &K 170 17.0 -17.0
14 214 44 V= vK -620 -480 480| 6 206 4vy N= +¢T 620 76.0 -76.0(103 303 3v S+1 &K 170 17.0 -17.0
104 304 44 V= #4 -620 -48.0 48.0| 9 209 4v S= ¢+A 620 76.0 -76.0 (105 305 2y S+2 #9 170 17.0 -17.0
110 310 44 V= vK -620 -48.0 48.0| 11 211 4v N= T 620 76.0 -76.0(114 314 3v S+1 &K 170 17.0 -17.0
7 207 3NV+1l vK -630 -48.0 48.0| 12 212 4v S= ¢A 620 76.0 -76.0( 2 202 2¢v N+1 48 140 -9.0 9.0
106 306 3NV +1 vK -630 -48.0 48.0(101 301 4v N= T 620 76.0 -76.0| 3 203 3v S= ¢2 140 -9.0 9.0
114 314 3NV +1 v5 -630 -48.0 48.0|105 305 44 N= &T 620 76.0 -76.0| 4 204 2v S+1 &K 140 -9.0 9.0
2 202 54 V= #4 650 -75.0 75.0|108 308 4v N= &T 620 76.0 -76.0| 10 210 2v S+1 &K 140 -9.0 9.0
101 301 44 V+1 vK -650 -75.0 75.0(111 311 4v S= ¢A 620 76.0 -76.0| 12 212 2v S+1 &K 140 -9.0 9.0
107 307 44 V+1 #4 -650 -75.0 75.0(107 307 3NN= &4 600 55.0 -55.0(110 310 2NS= 42 120 -26.0  26.0
102 302 3NV+2 vK -660 -750 75.0| 14 214 2v N+3 &T 200 -168.0 168.0( 7 207 24 V-2 v2 100 -38.0 38.0
5205 44 V+2 #4 -680 -91.0 91.0(110 310 1v N+4 T 200 -168.0 168.0 (106 306 24 V-2 ¢3 100 -38.0 38.0
10 210 44 V+2 #4 -680 -91.0 91.0(106 306 2v N+2 T 170 -185.0 185.0 (107 307 24 V-2 ¢3 100 -38.0 38.0
12 212 44 V+2 vK -680 -91.0 91.0(109 309 2v S+2 &5 170 -185.0 185.0 (111 311 24 V-2 ¢3 100 -38.0 38.0
103 303 44 V+2 #4 -680 -91.0 91.0(112 312 3v N= T 140 -201.0 201.0(108 308 24 V-1 vQ 50 -76.0 76.0
105 305 54 V+1 #4 -680 -91.0 91.0(114 314 3¢ S= &5 110 -220.0 2200 6 206 4y N-1 «8 -50 -143.0 143.0
111 311 4e V+2 #4 -680 -91.0 910 3 203 4vN-1 T -100 -287.0 287.0| 13 213 4y N-1 48 -50 -143.0 143.0
11 211 64 V= &4 -1430 -375.0 3750( 7 207 3vy N-1 48 -100 -287.0 287.0| 9 209 3NS-2 +2 -100 -174.0 174.0

BK Albrekts, Bronzstegen Omg 10, sida 3 av 3




